@®

Best Master Furniture” -

The Imported Furniture Specialist i\

ASSEMBLY INSTRUCTIONS

| ITEM NO.: CD038-SC
|

PARTS LIST ‘ HARDWARE LIST
Item Description ‘Drawing Pcs ltem Description Drawing Pcs
A CHAIR BACK @ 1 1 ALLEN BOLT (5/16°x 1 3/4") P 1
2 | ALLENBOLT (5/16°x 3 1/27) )i} 4
: SEST FRAME = b 3 | ALLENBOLT (51167 27) =) 4
o FRONT LEG(RAL) & \‘ ] 2 4 | SPRING WASHER = q
; o SIOE RAIL(RAL) 3 P 2 5 | FLAT WASHER (5/167) © 9
6 ALLEN WRENCH 5M F 4
7 | WOOD SCREW(50MM) J— 4
STEP:1

STEP:2

Do not tighten screws until completely assembled

www.bestmasterfurnitures.com




ASSEMBLY INSTRUCTIONS
ITEM NO.: CD038-SC

STEP:4

STEP:5

Do not tighten screws until completely assembled

www.bestmasterfurnitures.com




ASSEMBLY INSTRUCTIONS -
- ITEM NO:CD0O38-DT

PARTS LIST ' PARTS LIST

ltem Description Drawing | Pecs Item Description Drawing Pcs

1 |Bolt ©5/16%2-1/2"L @
A | . Table Top s— |

9 | Flat Washer #5/16%22%m
3 | Lock Washer ¢5/16” (&
4 Allen Wrench 5mm S

B Leg : S 4

=2 e0 il 00 | 00

STEP i1 &«

L

Assembly loosing finger tighten,Do not tighten until

e e

www.bestmasterfurnitures.com




